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46. The water surface is 2.5 in. from the top of the cylindrical water tank at the right.
About how much water is in the tank?

@ 604in? @ 636in° @© 668in.2 @ 763in3
47. Which statement is logically equivalent to the following statement?
Ifafigure is a thombus, then it has four sides.
@ Ifa figure is not a thombus, then it does not have four sides.
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Find the volume of each square pyramid. ® s

5. base edges 10 cm, 6. base edges 181n., 7. base edges5m,
height 6 cm height 12in. height 6 m
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Find the volume of each square pyramid, given its slant height.
Round to the nearest tenth.
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15. Chemistry In a chemistry lab you use a filter paper cone to filter a liquid. The
diameter of the cone is 6.5 cm and its height is 6 cm. How much liquid will the
cone hold when it s full?
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21. Reasoning Suppose the height of a pyramid is halved. How does this affect its
volume? Explain.
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Visualization Suppose you revolve the plane region completely about
the given line to sweep out a solid of revolution. Describe the solid.
Then find its volume in terms of 7.

33. the y-axis 34, the x-axis
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Find the volume of each sphere. Give each answer in terms of 7 and rounded to ® S
the nearest cubic unit.
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28. Visualization The region enclosed by the
semicircle at the right is revolved completely
about the x-axis.

a. Describe the solid of revolution that s formed.
b. Find its volume in terms of 7.
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30. The sphere at the right fits snugly inside a cube with 6-in. edges. What is the
approximate volume of the space between the sphere and cube?
@ 283in? @© 1029in? 6in.
B 76.5in. @ 113.1in3
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6. Food An ice cream vendor presses a sphere of frozen yogurtinto a cone,
as shown at the right. If the yogurt melts into the cone, will the cone
overflow? Explain.

47. The surface area of a sphere is 5541.77 fi>. What is its volume to the
nearest tenth?

48. Geography The circumference of Earth at the cquator is approximately 40,075 km.
About 71% of Earth is covered by oceans and other bodies of water. To the nearest
thousand square kilometers, how much of Earth's surface is land?

Find the surface area and volume of each figure.
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52. Astronomy The diameter of the Earth is about 24,902 mi. The diameter of the
moon is about 27% of the diameter of Earth. What percent of the volume of Earth is
the volume of the moon? Round your answer to the nearest whole percent.
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Find the volume of each rectangular prism.
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Find the volume of each triangular prism.
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Find the volume of each cylinder in terms of 7 and to the nearest tenth.
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17. The diameter of the cylinder is 1 yd. The heightis 4 yd.
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Find the volume of each composite space figure to the
nearest whole number.
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Find the height of each figure with the given volume.
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A cylinder has been cut out of each solid. Find the volume of the remaining
solid. Round your answer to the nearest tenth.
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Visualization Suppose you revolve the plane region completely about the given
line to sweep out a solid of revolution. Describe the solid and find its
volume in terms of 7.

39, the x-axis 40. the y-axis

41. theline y = 2 42. thelinex = 5




